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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the question paper.

2. Please check the question paper to verify that the total pages and total number of
questions contained in the paper are the same as those printed on the top of the
first page. Also check to see that the questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the four
alternatives given in the question, i.e., A, B, C or D and indicate your correct
answer in the answer-book given to you.

4. Making any identification mark in the answer-book or writing Roll Number
anywhere other than the specified places will lead to disqualification of the
candidate.

S. Answers for questions, like matching, true or false, fill in the blanks, etc., are to be
given in the answer-book.

6. Write your Question Paper Code No. 53/VOC/O, Set on the answer-book.
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TV REPAIRING
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( Theory )
(604/704)
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Note : All questions are compulsory and carry marks as indicated against each
question.
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Answer the following questions (Q. Nos. 1 to 10) : 1x10=10
Freferfiaa gei & 3 fafaw (v @@ 1 9 10) ¢
1. What is retrace time?
fem g o 77
2. What is ‘raster™?
‘T oR?
3. Define amplitude modulation.

3T Higed i GG it |

4. What are active lines?

Hisha el ¥ = AU 27

5. What do you mean by the term ‘ghost’ in a TV receiver?

Tk o fio fiefiar § ‘ue’ wse o1 21 A 7Y

6. Write RF carrier frequencies for Channel 4.

I9d 4 % T RF ae® agfa & ar 4 fafae)
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7. What is the function of AGC stage?

AGC %A1 &1 %@ =1 27

8. What is ‘intermediate frequency’?
‘meradf gt @ 27

9. Explain the term ‘non-linearity’.
TA-fataiedt 9q w T A

10. What is Y signal?
Y fawer w0 27

Fill in the blanks and write the word(s) in your answer-book (Q. Nos. 11 to 25) :
Yox15=T"
Tk Tt st gfd ShIfSTT wa w1eq /3meat i Aot Iw-gfeae § fafaw (yov s 11 @ 25) ¢

11. Polarity of TV transmission is

o o yERW H gaar Bl 2|

12. CRO stands for oscilloscope.
CRO ¥ 3™ 2 ST TeeTeehTa |

13. is mounted in front side of dipole antenna.

_ =l Tyyd WM % ew 9w W @ En S gl

14. The grid is also known as anode I.

file =l Uie 1 & &9 # f STHT ST 2|

15. The local oscillator frequency for Channel 4 is MHz.
A 4 % U e Affaerer i et MHz 2|

16. The impedance of parallel trap circuit is very at rejection frequency.

U 30 ke H Y IAFd AP W Igd _ Fial 2
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17. After AM detection, the signal is achieved in TV.
AM 1 9aT @ & &8 2o oo § Tohd 3UCTeY Bl 2|

18. The sound section consists of sound IF amplifier, audio amplifier and
loudspeaker.

ar3s Yo | 91Se IF Treflwg, ifeq Vreelierr ue aeeris affiferd gmar 21

19. A simple sync separator circuit consists of a diode, a resistor and a

T g T o afhe @t T@e, uw gfdlius K s gftufera gmar 21

20. The location of sync pulses in composite video signal is a point of video
signal after the pulses.

gaiferq fifea faua 9 G uemt i sufeufa gedl & qvarq fafe e &1
fog 2 21

21. produces square wave of high frequency in SMP circuit.

SMP Hfthe # 3= 3gfa it af q@1 39 = 2|

22. Video output signal is available at Pin No. of IC 7680.

fafe smeege fmar 1IC 7680 # fim T W ITAH B

23. Transistor QA04, QAO3 and QAO2 shown in figure are transistors.
& QA04, QA03 3R QA02 femm wu femr @ IR |

24. In colour television, the output of reference oscillator is applied to
demodulator after PAL 180° switch.

T T eflfasH | {4 3Ifeld & 3TM3eYe %l PAL 180° = & @ EIEIED GCARR
SIRERIES G
25. In colour signal, red is %.

Tl Fehd | oA T % B
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Write the functions of the following controls (Q. Nos. 26 to 30) : Y2x5=2"
Frefefiaa et & Rl =i fiflaw (J @@ 26 @ 30) -

26.

27.

28.

29.

30.

Channel selector

EC RIS GES

Linearity control
fafmafet s
Height control
®Tge helel

Width control

forgr e

Contrast control

v‘-/\ ‘ A

Write whether the following statements are True (T) or False (F) in your answer-book
(Q. Nos. 31 to 50) : Y2x20=10

frefaftaa wem @@l (T) § 1@ Terd (F), A0t sm-gferent 7 fafau (s e 31 @ 50) ¢

31.

32.

33.

A television camera converts picture image into video signal with the help of
scanning.

Teh SAifas a0 Th{m Hl Heg @ feer 3as hl Hfifed dond # ®uaia ar 2|

Medium waves travel as sky waves.

HEIH @1 SR 90T o &9 § Tid Ll 2

A TV receiver works on the principle of superheterodyne.

T o o feftar gmetera % fagid | wm Far 2
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34.

35.

36.

37.

38.

39.

40.

41.

42.

AM is used for picture transmission.

AM &1 F foerer grafiyee & foro fomn star 21

FM is used for picture transmission.

FM &1 33 fyeer grfaem & foro fomn smar 21

Antenna intercepts electromagnetic waves and converts into corresponding
signal current.

U g q-geehia a1 TaUHd Ll § 3K Wa dohd fogd- o™ § ®qaRd Ll ¢ |

The brightness control is provided in cathode circuit of CRT.

gid FEE0 CRT & %4l @fhe § YA TR STl &

Control grid does not control the amount of electrons emitted from the cathode.

o fire elie 9 IcfSa soiggiq il w7 i FEhE T8 e 2

Balun is used to match the output impedance of RF tuner with the input
impedance of IF sections.

IS 1 TN RF =R 6l 3T13eYE fdaTiedT &1 IF e Sl 3992 Ifdartadr 9 fiem & fore
o S 21

Keyed AGC is applied to IF amplifier.
g8 AGC &1 IF UFei®RR 8§ S fRan smar 21

A sound carrier called intercarrier sound at 5:5 MHz is produced by beating
the picture and sound IF.

iR 3T @18 IF & foed g1 5°5 MHz W THIE 8 Thed™ a1l Uk T188 hilR
3IF BT 2

The output of IF section is applied to the RF tuner.

IF ¥ 1 2M3<Ye 1 RF SR & g frm < 21
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43. Video detector detects video signal from AM video IF signal and finally
separates video signal from intercarrier FM sound IF signal at 5:5 MHz.

Hifemn fgeger AM dfifen IF fome @ dfifen faue ft @9 o=xar @ 3R 3@ 0 sTHER FM
e IF faua o difen fomar &1 5-5 MHz W 9% T 2l

44. Insufficient gain of horizontal section may result in a raster with reduced
width.

Afast SISl TUATH AT T IROMH FH GISE oh 91 T &L & dohdl & |

45. Horizontal oscillator produces 50 Hz saw tooth current for deflection coils.

afas erifieiex fadw Feeft & fofu 50 Hz @f 29 *e Ta1 w2

46. Auxiliary power supply is not generated in EHT section.
TeEe fostelt 1 smyfd EHT fawm @ e 76 2t 2)

47. FM detector employed in the sound section is generally a ratio detector.

e AT § FRd FM fedaet waR @ ws IRE et 2

48. A hybrid TV receiver consumes more power than a solid state TV receiver.
% wEfge fo o ffier, tw I srEwen fo o fEfer fi smen sifuw far swm
ot

49. The NTSC system was developed in USA.

NTSC wgfid &1 fosh@ USA § g1 1|

50. Different colours have same frequency.

fafim @ & w & emgfa At 71

* ok ok
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